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https://github.com/scikit-learn/scikit-learn/blob/15a949460/sklearn/svm/_base.py#L119
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e« AdaBoostClassifier 2| 7|2 RHQl,

ada_clf = AdaBoostClassifier(DecisionTreeClassifier(max depth=1),
n_estimators=200, algorithm="SAMME.R",
learning rate=0.5, random state=42)
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gbrt = GradientBoostingRegressor (max_depth=2,
n_estimators=3,
learning rate=1.0)
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import xgboost

xgb reg.fit(X train, y_ train,
eval set=[(X val, y val)],

early stopping rounds=2)

XGBoost
o Extreme Gradient Boosting2| ¢
. WIE &5, B30, 0]A14 Fofet,
« X7|EE SHYRt 7S S
Xgb reg = xgboost.XGBRegressor (random state=42)
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o ZZ: Stacked generalization


https://scikit-learn.org/stable/modules/ensemble.html#stacked-generalization
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AtO|Zl#2| StackingRegressor 2! &2t

estimators = [('ridge', RidgeCV()),
('lasso', LassoCV(random state=42)),
('knr', KNeighborsRegressor(n neighbors=20,
metric='euclidean'))]

final estimator = GradientBoostingRegressor(n_estimators=25, subsample=0.5,
min samples leaf=25, max features=1, random state=42)

reg = StackingRegressor(estimators=estimators,
final estimator=final estimator)



AtO|Zl#e| StackingClassifier RE! &t

estimators = [('rf', RandomForestClassifier(n estimators=10, random state=42)),
('svr', make pipeline(StandardScaler(),
LinearsSVC(random state=42)))]

clf = StackingClassifier(estimators=estimators,
final estimator=LogisticRegression())
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